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1.0e-015 1.0e-014
0.3656 -0.1776 0.1021 -0.1628 0.4620 0.9476 -0.5608 0.0465 -0.2090 -0.3906
1.0 1.0
2.4837 3.0805 1.7799 1.7064 8.3144 7.9962 6.4654 3.4477 3.0887 3.5875
-1.8638 -2.4258 -1.5623 -1.4422 -1.3044 -0.9549 -0.9541 -1.1351 -1.1753 -1.1475
1.0e-044 1.0e-034
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R.A.Fisher 3
n 0.2 99%
10
a
0.5 0.8 1 2 3 4 5 6 7 10
3| 100000 | 100000 | 64183 | 12753 | 6609 153 149 840 3718 | 100000
4 8209 2759 | 1729 | 1051 | 1477 1480 813 207 2956 | 100000
5 3695 1296 853 839 254 188 481 126 | 100000 | 100000
6 7725 2862 | 1878 757 652 153 203 1496 | 100000 | 100000
7 3657 1282 | 1117 688 265 218 1470 | 100000 6032 | 100000
8 8153 3151 | 2093 671 323 1534 | 14877 | 100000 | 100000 | 100000
9 8325 1341 | 1562 622 432 1062 | 100000 | 100000 | 100000 | 100000
10 3413 2589 | 1252 719 585 1884 | 68260 | 100000 | 100000 | 100000
11 8455 1426 | 1669 667 872 | 100000 | 100000 | 100000 | 100000 | 100000
1.1 R.A.Fisher (n 0.2
1.1 a
a
a 40 99%
10
i 0.005 0.01 0.05 0.1 0.2 0.5 0.8
3 4946 | 2336 549 | 1467 153 | 100000 | 100000
4 5485 | 2432 951 | 1241 | 1448 143 | 100000
5 3257 | 1030 501 427 188 | 54893 | 15200
6 4343 | 2074 709 406 153 673 | 16366
7 7981 | 3700 718 342 218 | 100000 | 100000
8 9164 | 3994 831 603 | 1534 298 9646
9| 14523 | 6503 | 1972 | 1354| 1062 | 49818 | 100000
10| 19450 | 12941 | 2372 | 1159 | 1884 | 60221 | 100000
1.2 R.A.Fisher (a 4.0
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1.2 n 0.2
n n 0.2
R.A.Fisher 3 4
150) n 0.2 a 4.0
Landsat
Landsat n
n 0.2
n 0.2 99.75
1
o
0.2 05 0.8 1 2 3 4 5 6 7 10
3 2610 400 370 560 150 120 290 360 200 6890 | 10000
4 2060 | 1010 830 900 280 140 150 | 1040 210 8560 | 10000
5 2490 | 1420 870 320 290 270 130 200 140 | 10000 | 10000
6 2280 900 670 420 270 280 180 230 190 8320 | 10000
7 2360 | 1190 730 310 220 230 190 190 270 8930 | 10000
8 2690 | 1260 740 420 300 170 250 130 370 7510 | 10000
9 2370 | 1060 640 390 310 240 140 230 | 10000 | 10000 | 10000
10 2260 980 630 420 440 190 100 500 160 6390 | 10000
11 2230 | 1060 500 420 410 130 140 150 | 4810 8580 | 10000
2.1 Landsat (n 0.2




2.1 a
a 4.0
a 4.0 99.75%
1
n 0.005 0.01 0.05 0.1 0.2 0.5 0.8
3 1910 | 8940 330 200 290 | 10000 | 9850
4 1920 | 2030 90 520 150 530 | 9500
5 1690 | 1960 90 130 130 | 8520 | 10000
6 430 260 80 120 180 | 7360 | 9150
7 490 260 350 270 190 | 6590 | 10000
8 400 390 390 440 250 | 9930 | 10000
9 350 200 370 140 140 | 1750 | 9320
10 370 310 200 220 100 | 7540 | 9810
2.2 Landsat (a 4.0
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2.2 n 0.05
n 0.05
n 0.05 99.75
o
0.2 05 0.8 1 2 3 4 5 6 7 10
3| 10000 880 | 2570 | 2710 180 180 330 420 490 180 580
4| 10000 | 1570 | 1170 970 480 470 90 190 230 190 450
5 6570 | 1790 | 1170| 1110 330 390 90 100 190 190 | 1780
6 5230 | 1760 | 1140| 1060 420 280 80 60 220 200 160
7 5750 | 1940 | 1060 260 460 160 350 240 210 170 460
8 5690 | 1180 430 300 430 400 390 160 160 150 140
9 4980 900 400 290 410 310 370 320 340 240 430
10 4710 950 410 400 430 200 200 300 220 290 160
11 4760 970 620 370 230 210 110 250 200 110 200
2.3 Landsat (n 0.05)
2.3 a 5.0
Landsat 6
3000 n 0.05 a 5.0
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